st Shift
HSSC CET Group D Question Paper with Answer Key of 21 Oct 2023 1

1. &9, I 9o sfeawe - @ gerdl o1 gy 9rd %

AR
(1) dom
(2) Tea
(3) ifewm

(5) W TE < R |
2. 9RA I fE o T e g 2

(1) 1930
2) 1950
@) 1951
(5) W T ¢ =R |
8. WU 2011 % ER, HIA 1 Fewar 7 &
2) 78.0
3) 88.0
4) 83.0

(5) W T ARy
4. Y H Sem om0

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1)  Punjab
(2) Gujarat
(3) Orissa
(4) Kerala

(5) Not Attempted

Which year did India attain freedom ?
(1) 1930

2) 1950
3) 1947
(4) 1951

(5) Not Attempted

As per Census 2011, the literacy rate in India
is :

(l). 73.0

(2) 78.0
(3) 88.0
(4) 83.0

(5) Not Attempted

What is the radius of the earth ?

() 8371 fk, ‘;’ gg;: l‘:m

(3) 9371 fR, (3) ey

4) 2371 fFH, :4: 2371 k:

(5) W& & e (5)  Not Attempteqd

5. ‘fafew Wmsﬁm'm%é@maﬁq%?
Wl.ac? is the author of the book - ‘A History of
0 T
B) e AEy e
y (2)  Warren Hastings
(4) < Tl B) Lo
rd Mountbatten
O) I 9wy 4 Lord Curzon
6. T R ¥ o ey T s e (5)  Not Attempteq
?
i Who serveq as free India’s first Governor-
SR Genera] 2

(2) W TeaaE e () ¢ Rajagopalachari

() A e () Sardar Vallabhbhai Patel
(4) TR A e ) Maulana Azad
(5) ST 3y, » ) Jawahar Lal Nehru

ATH/G1 (5) Not Attempted =
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‘CE’ ¥ aread § -
7. i ?’- : 7. ‘CE’refers to :
(1) VE T o= (1)  Coast of Egypt
(2) MR (2)  Common Estimate
(3) Common Era
(4) FeeEm (4) Casual Era
(5) ST I = ; (5)  Not Attempted
. 992014 A gri " ) , 8.  ‘Mission Indradhanush’; launched i
8 1 mﬁ;m@ S e R E 2014is: e intheyear
(1) ﬁ ﬁfﬂ'—q:;m Ed| Wﬁf =i gfd (1)  To provide information, commodities
%ﬂﬁfﬂaﬂ'ﬁ, Wamwm FEN and service to meet the diverse need of
2 Frfms A - 3“1?( 5 2dolescents.h.ld
. X TeRTER 0T 371 0 cover children who have be
EIHTHT Iﬁa?mmaﬁmml partially or not vaccinated duriflr;
(3) mmaﬁmamww routine immunisation rounds. -
-gap‘i’mm | (8) To provide affordable and quality
o - healthcare to the rural population.
pEg——— (4) Tﬁ‘ I%rovide education to the deprived
children.
e N (5) Not Attempted
9. AT SA1 @ -
9. World Environment Day is celebrated on :
@ 75F (1) 5% June
(2) 7t June
(3) 5o
(3) 5t July
(4) 7 IR 4) 7t July
(5) W T < e | (5) Not Attempted
10. et & = o feerd e 1 T 10. The earth is surrounded by a layer of gases
(1) = called:
. (1) Ozone
3 . (2) Environment
SIRUER (3) Atmosphere
4) Sy @) Climate
(5) <R TE T = | (5) Not Attempted
o 9 » programme ?
11, 5 (MAA) SRl 1 FoRqT & aar: . e 11. What is the full form of MﬁActfon
) N (—t ° (1) Mother’s Absolute ﬁt; i
- . y )’ b olute
(@ e e (R TR 3EIM) (2) Mother's Absoltte "
, : Mother And Adoles Adolescent
(3) wud R (TR FSES) 3) trual hygiene Among A
(@) frof § i e Fee e (e @ fols
=med | RK
(5) SR E < ——  F FORROUGHWO
e 1 3 fere 22t / SPAC _
VNATH/ G1 s
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12. ‘g’ ffafea 3 9 foras % w1 R, 4 sdiams
T TR W § ?
(1) =
(3)  mET
(4) S
(5) S TR o =R |
13. i seantaan favafaene el ofafeed ¢ 2
(1) 3¥rTg
2) ¥
4) TETS
(5) S I < =R |
14. frefafed § ¥ $H-91 FEFEE G Tk dfs
foeerdl § Y faen T fogen sfaria o=l I T
BT s Y fohan S § 2
(1) g THE
(3) 9 wed, o gl
(4) ud fen rfiEmH
(5) SR e <A1 =R |
15. ‘dfig’ vd 9RA % fohg T H HAAAT ST § 2
(1) ARH
(2) S
(3) SWIW
(5) W A o1 = |
16. afe frdlt safad 1 gah 19 HIAT 898 AL S, Al SHH

& 1 P 9o 5N fhee fofan S €, 37 a8
Sfifed 78t 18 GehaT| I8 Wishal FHeamd © :
(1) Soge

12.

13.

14.

15.

16.

‘Lugda’ is a kind of which one of the following
that is worn in Chhattisgarh ?

(1) Saree

(2) Dupatta

(3) Ornament

(4) Footwear

(5) Not Attempted

Where is Jamia Islamia University situated ,

(1) Aligarh

(2) Bhopal

(3) Delhi

(4) Lucknow

(5) Not Attempted

Which one of the follovs'ring refers to the
programme introduced in all government
elementary schools to provide children with

cooked lunch ?

(1) Mabhila Samakhya

(2) Mid-day meal

(3) Beti Bachao, Beti Padhao
(4) Sarv Shiksha Abhiyan
(5) Not Attempted

‘Bihu’ festival is celebrated in which Indiar
State ?

(1) Karnataka

(2) Punjab

(3) Uttar Pradesh
(4) Assam

(5) Not Attempted

If a person’s kidney stops working. Th
canno_t sprvive unless their blood is filter
by artificial kidney. This process is called

gt (1) Excretion
(2) Dialysis
(3) w}?ﬁ (3) Transpiration
(4) T:ra;rgq (4) Elimination
(5) S| TE o =@Ed | (5) Not Attempted
VNATH/G1 3% 1Y & foTu T2l / SPACE FOR ROUGH WORK ~Pat
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17. Trefafes & 9 a9
{ I e REEE R 17, whi
lich of the following i
(2) worye habitat 7 B 18 not o terrestria]
3) aWiay (1) Pong
(4) ¥ em g; Ec“‘c”
. ainforegt
(5) SW Tl [ =Ry, R
18. SIHH &Y THITE, 37 7 9 (5)  Not Attempted
(1) ?Tq‘ 18. The SI unit of mass is -
(1)  gram
B URs (2)  kilogram
4) =™ (3)  pound
(5) SR R | (4) ounce
(5)  Not Attempted
19. T TISH 99 TUUN H T=H S 1 g W
21 <o 3R wigfams % o= frat @ B 2 "] 19. ?hboy is star{ding ata distapce of 50 cm from
. e plane mirror. What will be the distance
(1) 100 HeHteR between the mirror and the image ?
2) 25FdHRR (1) 100 cm
(2) 25cm
@) 75 g 3) 50cm
(5) SR T A =R | 4 75cm
(5) Not Attempted
20. 1 gfrar § o & @ g fedt
e &7 avaehdl Tal eral 2l 20. No medium is required for transfer of heat by
the process of
(1) ferene (1) Radiation
(2) = (2) Conduction
(3) Convection
4) reETES (4) Transpiration
(5) SER A &l =& | (5) Not Attempted
21. a1 <A 4 Gl aret f 21, and are water borne
= diseases. N
D (1) Typhoid and Meningitis
= - 2 Beri-Beri and Dysentery
@) éﬁ—aﬂﬁﬂm :3; Scurvy and Cholera
@) e AN 3\‘111 (4)  Polio and Rickets
A (4) qiferdl @a;ﬁ:—{ragi (5) Not Attempted —-
(5) IR £ FOR ROUGH WORK age
MH/G‘I ——— WM%WTW/SPAC
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22. Frefates % gif

(M (1)
) T ()  FESRE
B) g ()  sfewm
(C) iR (1)
D) fowmd & (V) o

) (A)-(), (B)-(1), (©)-(1), (D)-(IV)
3)  (A)-(1v), (B)-(II), (C)-(II), (D)-(1)
@) (A)-(), (B)-(), (C)-(IV), (D)-()

(5) S TR <1 =R |
23. £ F F FRO SO-4 AAR A €
(1) foamma
@) faafc
4) ferf@D
(5) SR TR o W |

24. Freffaa 3 @ St Hoel HI ERH T g2
(1) e (fe) F sufertd
2) firet &1 Sufefa
(3) it g @1 &gl SR SRR IR
(4) IR % 7 9 F gor H R R IS @
TR BT Sl § |
(5) SR T 1 918 |

25. BUe;ERE A’ SR T HRUE

22.

23.

24.

25.

Match the following :

M ™ k stem
(A) Lamina 1
(B) Petal i Ova:Y

e (1) Lea
(C) Pist1 (IV) Flower

(D) Creeper
()-(h), (D)-(1)
©)-, (D)-(IV)
(-, (O)-D)
(©)-(v), ()-)

(1) (A)-(), (B)-(IV),
) (A)-), (B)-(11),
3 (A)-IV) (B)-(11),
() (A)-1); (B)-(111),
(5) Not Attempted

— causes beri-ber
Deficienc _—

disease.

(1 Vitamin A

(2)  Vitamin Bl

(3) Vitamin C

(4) Vitamin D

(5) Not Attempted

Which of the following is not the characteristi
of fish ?

(1) Presence of fins
(2) Presence of gills
(3) Long backbone with cylindrical body

(4) Head and tail smaller than the midd
portion of the body.

(5) Not Attempted

Hepatitis ‘A’ is caused by :

(1) C—ﬁang (1) Bacteria
) @ Virus
3) PIH (3) Fungi
(4) QRIS (4)  Protozoa
(5) W el o1 918d | (5) Not Attempted
VNATH / G1 3% Bl o feTu ¥1e / SPACE FOR ROUGH WORK g
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26. Y HH 3 Y vomg o ¥ 26. Earthworms breathe through their
(1) wwS (1) Lungs
(2) VAt ‘ (2) Tracheae
3) TAES (3) Gills
( : (4)  Skin
: 5 Not A
(5) S T T = (5) ot Attempted
. . 27. Yeast is used in the production of :
27. mﬁﬁmmﬁmwmm (1) Sugar
'?ﬁ:ﬁ (2)  Oxygen
(1) v (3)  Alcohol
) awﬁaq (4)  Hydrochloric Acid
(5)  Not Attempted
(4) TR 37
(5) ST G <A1 9Rd | 28. Intheyear 2016, the Government of India has
: initiated a mission called under
28. 92016 H YRG TR I ATt wsvt;lircézda proper Sewage disposal have been
ey fepan ® formes eraia 3fea arfed w1 faem
(1)  Ujjwala
& forar T B 2) Udaan
(1) - " Il (3) Swachh Bharat
(2) SeM (4) Namami Gange
(5) Not Attempted
(4) I TN
(5) I TR <1 =R | 29. Match electrical component given in
Column - I with the symbol given in
. s Column - II :
29. WY -1¥ fed T fagm sagdl & @Y - I H fu T
S AT AR Column -1 Column - II
i Wal : e (A) Electric cell I e
(a) fogd §a m —A—= (B) Switch in ON’ (11) @
B) ‘o1’ feufq ¥ e (11) @ position
(C) - Electric Bulb (1)  ———
(C) forepd et (I e (D) Battery ) —-
(D) EEy ) —f= Choose the correct option :
i forrea 9P (1) (A, B)-, (©-a, O)-1V)
(1) (A)-(), (B)-(), (C)-(11), (D)-(IV) @  (A)-, B)-0, €)-W, O)-0V)
@)  (A)-(m), (B)-(0), (O)-0D, (B)-(IV) @) (A)-1v), B)-0, (©)-, (D)-(D
@) (@&)-(v), ®-O, ©-. D10 @ (A)-av), @-a, ©)-a, ©-0
. 5) Not Attempted
(5) S o> Page 7
VNATH/ G1 =% el 3 ferw zairer / SPACE FOR ROUGH WORK
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The property of metals by which they can b

30. el 1 T TUEH N FHEe § fred e @ | 30.
ﬁmmwmaﬁ{,‘? beaten into thin sheets is called :
(1) =reThan (1) Conductivity
(2) it e (2) Reactivity
3) (3) Ductility
(4) Malleability
(5) Not Attempted
(B) SR o =R |
. . 31. Fivechildren A, B, C,D and E are standing i
31. U= EHA A, B, C, D T E IW &I 3R Hg Hleh Th a row, facing North but not necessarily ingthré
i o w2 € Al sTavas T E s FA A .fa;rtneﬁ;?e{k‘c’ . t% tf}lle right of £’ and to the
e : > : ns , eit of ‘A’. “A’ and D’ have one child between
C’, ‘;3 aﬁf;f;?ﬁt qﬁ; ':E?ag; %A73ﬁ? D'H them. Who is in the middle of the row ?
g)’ = @ cC
3 B 3) B
4 A
(5) S| el 1 98d | (5)  Not Attempted
32. = 30 el %m{e’aﬁ sTegafeyd w9 4 fegrmar | 32- A set of English letters is given below in a
#1 Hemsl & I A o T T SR ;uénn?ll)ed °rder'thsfl‘z;t t}lle combination of
1 e i ers so tha e letters arranged
e 1 F T TH APl w1 | accordingly will form a meaningful word.
cC P K T 0] E
1. 2 8 4 5 6 5 (1: 2P é{ I ? 5
(1) 3,51,4,2,6 \aoc’<g ; 5
*%\/\ () 3: ;17472;6
@ 21,5364 eL0¥Zy
Qo o\‘/\,,q/ @ 2,1,53,6,4
(4) 4) 1) 5) 2) 3,6 K&OQ (3) 2’ 5) 173? 6;4
(5) A e B S L RAAE
(5) Not Attempted
8. IQ, RFFFEH &, R A frm
W%ﬁf %733[ + %T|'§ %’ 0 33. If ‘Q’is brother of son of R’s son, then how is
Hde ¢ ‘Q’ related to R’ ?
1) = (1) Son
(2) ==/ (2) Uncle
(3) Grandson
(4) =T /T ., Copsm
(5) IW T 1 W | (5) Not Attempted
VNATH/ G1 3% Pt &b fo70 2Ie / SPACE FOR ROUGH WORK Page 8
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34. Afs fodt o6 # 25 o A AR R, disw wem § | 34 If 25th of August in a year i
i o y s Thursday, then
fefc HITCTa B - howtlrr?;ny Tuesdays will be there in that
mon
(1) 3
(1) 3
@ 4 (2 5
@ 6 3 4
(5) SR TRl A =@ | 4 6
(5) Not Attempted
35. QYA IR 39F g fehd 1 R 11 fem e €1 fau
T FAT ! HA TG gC =18 F I 9 a2l |
; > 35. Two state t i
fim & i A Ydd B 3, foila =X & Tm'ﬁ?—m/ﬁ conclusi;rrllesn : aarfldgwlelr.l, i’:);l:r;?nt;y ?ﬁz
ﬁmmmm%mmqmm@ﬁm statements to be true even if they seem to be
_% /ﬁ.a)-a—a % ) at v'ariance' from the commonly known facts,
decide which of the conclusions logically
T : follow/follows from the given statements.
Tt AR 3.,—;7 2l Statements :
ﬂo‘@ﬁm%l All animals are dogs.
frerd Some dogs are dangerous.
L O R A © | Ganelasionos
; L All animals are dangerous.
I 9 $d IHRE|
II. Some dogs are animals.
(1) et forehd 1 fefer €1
R _— 4 (1)  Only ConclusionI follows.
) (2) Only Conclusion II follows.
(3) 13RI A ¢ (3) Both Conclusions I and II follow.
(4) a4 B 3R A an gl 4) Neither Conclusion I nor II follows.
(5) SW T < e | (5) Not Attempted
36. fo@ ¥hN fepaiiet =1 Aok @ S, T 36. Kilometer is related to Distance in the same
fraQ gefad 2?7 way as Newton is related to :
(1) w7 q (1) Acceleration
2 TAE (2) Density
" (3) Force
. (4) Momentum
4) Famd
e i 2 T (5) NotAttempted
5 W Page 9
o) a;ﬁf'&iﬁﬂ??m/ SPACE FOR —~E FOR ROUGH WORK
VNATH / G1
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37. QT TGl 1 3T g I i . 37. Find the next term of the series :
11,12, 16, 25,41, 7 11,12, 16,25, 41, 2
(1) 65 (1) 65
~(3-) o 2) 66
- 3) 69
(4) 72
(5) SWE < 9w | -

(5) Not Attempted

38. fawq = == =ifs
38. Find the odd one out:

o (1) Ginger
& AES (2) Carrot
(B) Y (3) Potato
(4) Tomato
(5) ST < S| (5) Not Attempted

39. A TF fifvea REHM # ‘COVET’ ® FRYHW’ 39. If in a certain code, ‘COVET’ is written a:

foran a1 €, O 9 9§ HIDE? @ & faan FRYHW’ then how will ‘HIDE’ be written in th:
@ ? same language ?
(1) KLEF (1) KLEF
- (2) KLGH
(3) KLEI 3) KLEI
(4) KGEF (4)  KGEF
5) W TE <A1 9Ed |
) (5)  NotAttempted
40. TF FfH IR e # G #F @ &1 A€ AN | 40 A TR b st
5 & i 3 * < C i : 3
feen 4 135° 7g S &, 39% a1 <fioned e A 135%in anticlérclli-:?sret}clﬁ? -l g
90° 55 T §1 14 S ge fam fam 7 87 fn the clock-wise directio(::tl%:lll’qénd t%len -9([‘
1s he facing now ? ) k. el
(1) -3
o B (1)  North-East
(2) North
(3) North-West
(4) dfe=m (4)  West
(5) W E < e | (5)  Not Attempted
VNATH/G1 0 BT & foTU Z211e / SPACE FOR ROUGH WORK 1
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41. 17 TEURIT 720 9wy w5 WY N ww e %

EREUIERGIR IR G CE TR
(1) Tas
(2) TS50
(3) TS5

(3) I A B sy

42. TRAS (28137 - (15— )| =58 B, A » 31 713

&

S .

(1) -29
2 -—19
@) 29

(5) ST Tl < =ed |

43. AT BT FEE: T 22,500 991 ¥ 35,000 fraw =,
T SR T fEa1 1 27,600 F FA A E B H

yme:
(1) 10,800
(2) 14,400

(4) 19,200
(5) = E < 9 |

.

(5) Not Attempted

(5) Not Attempted

total profit of T 27,600, B's share s
(1) 10,800

(2) T 14,400

(3) 16,800

(4) 19,200

(5) Not Attempred

42. 1fA5—[28 -137 - (153 — Al =38, then the
of xis
(1) =29
(2) o
(3) 19
(4) 29

The cosat

41, On elling |7 halla fae T 720, there is a loss
AAT o the coat price Af A halla
...--. ~ A'.‘ ” .,‘E B
‘Vv' ’ A
" » e
;’}\/ < 50
3] US8
{4) ? 60

'
vuaine

43. A and B started a business by mvesting
T 22,500 and T 35,000 respectively. Out of a

. l ahiie ..f-’:‘zi
) 7 X _ 2, then the value of — 3
i ‘ T 4. If ==
“ X_lEtaX TV wuEm: y 3 !
3 =y
! 10
- 10 ) g
(1) g .
5 (1) B
@ 3 5
(3) v
5
g () 3
- (14 g‘\!
@ 3 o) N AU g
. : RK
(5) WA GPACE FO
fero v /
IWH

VNATH / G1
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A Toreft a1 ¥ forol ot v wen dvreret

25 T a0 168 1 Hiex ¥, T 31y i et o
¥

(1)
(2)

12 .
17 .

31 .
I TR < =R |

(4)
)

L TR o R w12 o § i
T B S © 2

1
—%
55
10/
(3) 85/0
10
(4) 956
(5) W TR & = |

55. 37U U 9 9 Thed I U Siel G ¢, Sl 34
20% Fg1 fred W1 &1 AfE 39 % 1,600 feu at fret &
3 FH- U1 39 Theq & Th Sg & 3ifehd e

53.

54.

55.

"gradein;' diagonal and the area
If g‘le %ngth of éh:; and 168 m?2 respeCtiveh

rectangle are E e of the rectangle is ;

then the longer sid

(1) 12m
(2) 17 m
3) 24m
(4 31m

(5) Not Attempted

At what rate of simple interest will a sum
money doubles itself in 12 years ?

(1) 8-3;%
2) 8—:13—%
(3) 8%%
(4) 9%%

(5) Not Attempted

Arun buys a pair of skates at a sale whe
the discount given is 20%. If the amount!
pays is X 1,600, then which of the following
the marked price of the pair of skates ?

i} (1) 1,280
(1) 1,280 0 e
((32)) :11:22(()) 3) ¥1,920
4) 2,000
i, - (5) Not Attempted
Tl'(is/)G1 — — ZTEEEI'!fa‘i%TURTH/SPACE FOR ROUGH WORK l?a?
A g
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Choose the correctly spelt word.
(1) humorus

(3) humoros
4) humarous
(5) Not Attempted

Choose the alternative which best expresses

the given sentence in Passive Voice.

The accountant took the cheque from the

customer. )

(1) The cheque is taken from the customer
by the accountant.

(3) The customer was taken the cheque by
the accountant.

@) The cheque had been taken from the
customer by the accountant.

(5) Not Attempted

In the following question, the first and the last
of the sentence are numbered S, & S¢-

The rest of the sentence is split into four parts

and named P, Q, R and S. These four parts are

jumbled. Re-arrange them in correct order.

S; - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

S - fewer women than men

Sg - education and vocation training

(1) PQRS

(3) RQPS

4) SQRP

(5) Not Attempted

Change the following sentence in

speech.

Shakti said to his friend,

a snake behind you”.

(I) Shakti told his frier?ddt;'look out as
there is a snake behind him. )

(2) Shakti exclaimed to his friend \\an}t(l;
surprise that there could be a sn
behind him. ‘ ' ’

(3) SZelirrl1g a snake behind him, Shakti
asked his friend ‘torlqok 01_11.

( i

(5) Not Attempted

to indirect

«] ook out! There is

60,

61.

62.

63.

72 forg zerma/ SPACE FOR RO

N
1:( k out the part of the sentence which has an
rror. If there is no error, vour answer is (4).

This is the third communication [ have sent /
(A)

and | am much surprised /
(B)

at receiving no answer
(C)

(1) (A)

(3) (€
(4) No error
(5)  Not Attempted

Fill in the blank with suitable alternative.
You will not overtake him unless you
(1) sleep

(3)  play
(4) reading
(5) Not Attempted

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant

(1) very large

(3) very comfortable
(4) collapsing
(5) Not Attempted

Find out the antonym of frequent’.

(2) return

(38) fear

(4) alarm

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to
arrive, and the true success is to labour.
(1) rationally

(3) negligence
(4) carelessly
(5) NotAttempted

UGH WORK Page 15
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65. Choose the correct alternative to improve the
underlined part of the following sentence. If no
improvement is required, your answer is (4).
Passengers are requested not tosit on the floor.
(1) tonot sit
(2) tonot to sit
(3) requested to sit
(5)  Not Attempted

66. M-I A FY HRH T ISR § ?

(2) SEA =R = T ik
@) f iR wwHi !

(4) YT WA RN

(5) SR <A =R |

67. ‘TU IM H 3@ WA FHI' A % {@ifhd TR H

Haiferen STge TaiaaTE s © -
(2) it

(3) 39T

4) &

(5) SR E <A R |

68. ‘aTF eI ¥ AN § S ol VS T € -
(1) Th
2) TGH
( B
4) IR
(5) SW & <1 =T |

o, “peatedi T T g A A ST
gfee & ST e
(1) TR I
(2) ST STAHH
@ g I
5) I T
VNATH/ G1

Join Telegram Group "gradein”

70.

71.

72.

73.

74.

75.

fau v fope faered t‘fammgs@wﬁf%?v
1» - -~ 2 N Sy

() TR AH RE

(3) =l feE H e ® T

(@) el A g A e

(5) ST & A |

o e 3 T WG FUT @, I e € -

(1) wHaRA

(2) Fgife

@ f1

(5) TR <A AR |

faw TTu fire forered 4 o=t =1 95 T4 82
2) S=Ed

@ T

4) b

(5) ST <A =Ed |
‘T 3R Hem F o9 S aal’ & (g Aty SugEd
TH V= -

(2) TERY
(3) TR
4) TRE

(5) SRR <A =R |
Fy.+o7rEn’ AN Y T TN FaituS SIgE v
3.

(1) TFremm

(2) ﬁazrsn

(4) fwRemm

(5) ST & = |

‘ot i N w H RTe 1 Wi SUgE oy
3o

(1) e S BT

2) ATy T ol S HL

(4) e ol @ EA HH|
Bkl —

=t T 3 feTe It / SPACE FOR ROUGH WORK
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76. TN ¥ fFa i ¥

76.  How many districts are there in Haryana ?
1) 21 (m 21
(2) 22
@ 23 (3) 23
4) 24 1) 24
(5) S FE ¥ wwd

(5)  Not Attempted

e 1 e (03 73 3f1) % wfaim 1 ffafag 4 77. Consider the following statements in respect
A HR- TvE wE )

of National Security Guards (N3G)

(A) TETH W v e w3 (A) f“)!;;r;‘r::;r:—nal Headquarter of NSG is in

e bk ng‘m % fretomi i (B) NSG comes under the control of Union

Wﬂﬁﬂﬁﬂﬁ?—ﬁ/ﬁmuﬂé/?? Ministry of Home Affairs.

(1) ‘éﬁa(/\) Which of the above statements is/are
correct ?

@ W_(B) (1)  (A)only
(2)  (B)only

@) AW @A) FRTA (B) (3)  Both (A) and (B)

(5) ST IR

(4)  Neither (A) nor (B)

(S)  Not Attempted
78. i ¥ 5w 78R ¥ vfug goge 19 W smee

eamm I e g2 78. In wl"lich month of the vear, the famous
N il;ge’grl::;d mela is held every vear in
(2) o= (1)  March
(3) FwH (2) December
(3)  October
(5) IO I < 9Ed | (4)  February
(5)  Not Attempted
79. HerdRd F1et 4 efarn & fan fam v @ s fir
TN E? 79. In the Mahabharata pernod, which term was
(1) s used for Haryana ?
(1) Haribanak
(2)  Bahudhanyakya
(3) wEE (3) Hariyala
(4) e (4)  Haryanak
(5) I AL ZA A | (5)  Not Attempted
-~ Page 17
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80. fuSw 31 wisfin fam
HRRRR T §

mote the ancient Heritage of Pinjore,

TN " 23 % fow ufeerd & | 80 To pro held every year. One is the

two festivals are

< : VT e @ i o e Pinjore Heritage (estival’; which is the seconq
NASARLLL F- ? ()né e
(1) a0 yems (1) Orange festival
(2} TR R (2) Dates festival
(3) Mango festival
(4) :ﬁ?“ﬁ?ﬂa (4) Lemon festival
O) ST IR (5) Not Attempted
81. Tr=fafed 4 9 efamn v =1 wfeo, 57 siw | 81, Who among the following is the Minister of
THSEE Hq3t 2 g:xavti;o?nment, Forests and Wildlife of Haryana

1 - -

(1) sr_r S o (1) Shree Anil Vij

(2) Shree Kanwar Pal
3) & H= ¥ wmi

(4) & T SReEn (4) Shree Dushyant Chautala
(5) SO €l <91 9Ed | (5)

(3) Shree Mool Chand Sharma

Not Attempted

82. &I W3l Wiauiiel §HM A gr foha Sfordi =t | 82.

Mukhya Mantri Pragatisheel Samman Yojana

i-ﬁﬁﬁﬁmﬁ%ﬁmmﬁwm is to .motivate the. progressive farmers for
. adopting best agriculture practices in how
a1 ST 2 7 many categories of land holding ?
(1) 2 1) 2
2 3 2 3
- @) 4
(4) @) S
(5) <o AE &1 =ed |

(5) Not Attempted

frAfataa # 4 9 |1 g efEmn T JEE?

.. 83. Which amongst the followine ;
" - of Haryane 3 wingis the State Tre
. :11‘ l— ey (1) Banyan Tree
qfers A (2)  Sacreq Fig
(3) Mango Ty
#1949 N
(4) m ) u I (4) Sal 'l‘l‘ce
" Aed Not Attempted
age 1
| G1
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84. Trfeifed wemi w faum i -

(A) e & gfers smgerer ferm 3

B) A & gfere simqeriTers feerw ¥
SR A FR-w A TR E@ Y
(1)  %aa (A)

) (A) R (B) S

@ T (a) RAE (B)

(5) W EI < = |

84. Consider the following statements :

(A) Rohtak has a Police Commissionerate
located there.

(B) Sonipat has a Police Commissioner:
located there.

Which of the above statements is/are

correct ?

(1) (A)only

(2)  (B)only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

(5) Not Attempted

ate

85. fod o 2022-23 ¥ forg, wfamon ww § @ ¥
fere g1 = 1 fora ftrow ereifeq fFn T €2 | 85, For the financial year 2022-23, what is the
(1) 14.2% percentage of the total expenditure allocated
towards Health in the Haryana State ?
3) 8.5% (1)  14.2%
4) 5.8% (2) 6.2%
(5) TR Gl <A1 =R | 3) 85%
4 5.8%
86. frfefad e 9 famm ifer : SR e
@ ?ﬁ% L U 86. Consider the following statements :
: " (A) Sonipat and Jhajjar share border with
(B) ﬂmaﬁmm@ﬁm%l Delhi.
STF H § FA-91/Q FYTE ¢/8 2 (B) Rohtak does not share border with Delhi.
(1) W(A) Which of the above statements is/are
correct ?
B - s (1) (A)only
(2) (B)only
(4) AW (a) A (B) (3) Both (A) and (B)
(5) ST R A = | (4)  Neither (A) nor (B)
(5) Not Attempted
g7. o fFg TS % Sidia § 2
' 87. Neemrana comes under which State ?
2) R (1) Rajasthan
2 (2) Haryana
I . (3) Punjab
4] eEs (4) Uttarakhand
(5) ST e | (5) Not Attempted
VNATH/G1 - % 1t 3 feTw Zarmer / SPACE FOR ROUGH WORK Page 19
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88.  wfemn uey § o |1 Y feha e € 7

(1) 8
2 7
B) 6
(5) SWE =

89, ﬁqﬁﬂ'ﬁ@amwwaﬁm
A 731 wifeea Tegrr srvaen A R

B) o1 wiftw egrr R 7 F 7@ W

ST A @ S el 2

(1) Q-TOIFI (A)

B) () ik (B)

@) 3@ @a) sika@ g

(5) ST 3 e

90. mwﬁwv@mmmm%?

(1)  d=gen
3) wiemme
(4) HE

(5) ST <A1 =R |

91. 3fEu mith srf swia vt aREer efamn %

IECR: R

(2) fan

3) feur

4) fo<

(5) SoX el & = |
92 ﬂﬁm;ﬁqﬁfm@a%mm%?

( A

@

(3) ?ﬁ*ﬁ

&) : Sy = |

SR T <

() — o & 11T

NATH/G1

How

Rajya gabha seats does Haryana
many

85 have ?
(1 8
@ 7
(3) 2
g; Not Attempted
: wing statements :
A ?n81?qjd;h;;(;1lilg Gu%udWara is situated in
&) Ambala. .
(B) Nada Sahib Gurudwara 18 situated on
the bank of river Ghaggar.
which of the above statements is/are
correct ?
(1) (A) only
) (B)only
(3) Both (A) and (B)
4) Neither (A) nor (B)
(5) Not Attempted
90. In which district is the Indian National
Defence University located ?
(1) Panchkula
(2) Gurugram
(3) Faridabad
(4) Karnal
(5) Not Attempted
91. Indira Gandhi Super Thermal Power Project
is situated in which district of Haryana ?
(1) Jhajjar
(2) Sirsa
(3) Hisar
(4) Jind
(5) Not Attempted
- S:;xl-tm?a Chaudhary is well known for which
(1)  Judo
(2) Kabaddi
(3) Wrestling
(4)  Archery
(5)  NotAttempted
~e] SPACE FOR ROUGH WORK Sae0
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)3 frefafed @ foe gfmon =Y 3 A sl 2Rt # | 93, Who amongst the following did not play for

e Qe o1 ? Haryana in Ranji Trophy ?
(1) qfax fa8 (1)  Maninder Singh
2) wfqar <d (2)  Kapil Dev
@) fsTeT M (3)  Rajinder Goel
— (4)  Sarkar Talwar
‘(5) 3T 8 <1 =T | (5)  Not Attempted
o, T o ot H e 2 94. In which district is Narnaul situated ?
Al o
aitha
2 W (3) Mahendragarh
(4) Rohtak
(4; T\‘;:‘:ﬁ saried (5) Not Attempted
(5
. frefefan 313 g 1 T T T 98 o w7
WQW%? (1) Dhamal
) W (2) Ratvai
: (3) Phag
@ = (4) Gugga
@ T & e (5) Not Attempted
(5) SW
‘ , ¥, 96. Who was the author of epic ‘Mahabharata’ ?
06, e ‘HRTVRA’ & T i € ¢ o Mg
- mm (2) Kalidas
o s (3) Maharishi Valmiki
©) qgﬁi ~ 4) Maharishi Vedvyasa
Not Attempted
(5) ST A e | )

_— -
. = 2R F Y@ HIE IAEH ich one of the following1s not amongst
7. e ik i ® e X:jlgr cotton growing districts of Haryana ?

ﬁﬁﬁﬁa@qﬁ%? (1) Sirsa
: 2) Sonipat
o o (3) Ambala
e 4) Rewari
o m - (5) Not Attempted
SR < e | .
WAT:)/) G1 <% 1 % ferg zairel | SPACE FOR ROUGH WORK
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e
WT%W (Sfrom @) el frefifad
Fifore

(A) G )

. et W R R FH @A T
TS St 4t gfamon & IRk

%%I S

SR w8 e

@) ¥

B)  (a) ik () 2

(4) Td@ (A) 3ﬁ‘{:[-é1 (B)

(5) I =

‘3l i e § feg 5w e

(1) =W

(2) wfesn

(3) <M

(5) SR T & e |

feron & el g el e T 3 o o
g ST § 2

\ Vi

(2) T

@

4y &

ES) < T 7 =T |

.o0o0-

99.

100.

g statements about Gross

o g?altltzi(li)ecl)'rg::estf?c}l;xguct (GSDP) :
() GSDP of Haryana is more than that of
Bihar.

(B) GSDP of Punjab is more than that of
Haryana. |
Which of the above statements is/are

correct ?

(1) (A only

(2) (B)only

(3) Both (A)and (B)

(4)  Neither (A) nor (B)
(5) Not Attempted

‘Ottw’ barrage is on which river in Haryana ?

(1) Yamuna

(2) Sahiba

(3) Tangri

(4) Ghaggar

(5) Not Attempted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Ears

(2) Forehead

(3) Foot

(4) Nose

(5)  Not Attempted

-00o0-
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